
















Tag Part # Part Name Material Type Tag Part # Part Name Material Type

1 LUX‐WW‐0001 150mm Box Mullion 6063‐T6 Alum 23 LUX‐BKT‐0009 Flat Anchor Plate 6061‐T6 Alum

1B LUX‐WW‐0010 Box Transom for 65mm Box Mullion 6063‐T6 Alum 24 LUX‐FST‐0001 DIN 7991 m8 X  35 Screw 18‐8 Stainless Steel

2 LUX‐GKT‐0002 30mm Insulation Polyamide w/ EPDM 25 LUX‐GKT‐0003 3mm Gasket EPDM

3 LUX‐WW‐0002 Pressure Plate 6063‐T5 Alum 27 LUX‐GKT‐0004 7mm Gasket EPDM

4 LUX‐WW‐0003 Reinforcement Profile for 150mm Box Mullion 6063‐T5 Alum 28 LUX‐GKT‐0005 13.5mm Gasket EPDM

5 LUX‐EXT‐0001 304 SS Bar 3/16" x 4.312 304 Stainless Steel 31 LUX‐CLT‐0008 Anti‐Roll Spring Clip Cast Alum

5B LUX‐WW‐0011 Reinforcement Profile for 65mm Box Mullion 6063‐T5 Alum 32 LUX‐ADH‐0001 45mm Butyl Tape Butyl

6 LUX‐WW‐0004 14mm Cover 6063‐T5 Alum 34 LUX‐FST‐0003 DIN 7981 m5.5 X 50 Screw 18‐8 Stainless Steel

6B LUX‐EXT‐0002 30x15x1.3 Tube PVC 35 LUX‐GKT‐0031 35mm Box Transom Expansion Collar Foam

7 LUX‐WW‐0012 19mm Cover 6063‐T5 Alum 36 LUX‐GKT‐0032 150mm Box Transom Expansion Collar Foam

8 LUX‐WW‐0013 65mm Box Mullion 6063‐T6 Alum 38 LUX‐PRK‐0003 44mm Glazing Block Aluminum

9 LUX‐WW‐0006 150mm Blade Mullion 6063‐T5 Alum 39 LUX‐PRK‐0004 44mm Setting Block, 2411.3.3.1 Compliant Plastic

10 LUX‐EXT‐0003 304 SS Tube 15x40x.12 304 Stainless Steel 40 DOW795 Silicone Silicone

11 LUX‐EXT‐0010 304 SS Bar 3/16x4.125 304 Stainless Steel 41 DOW995 Silicone Silicone

12 LUX‐WW‐0007 Box Transom for 150mm Mullion 6063‐T6 Alum 42 ‐ Installation Anchor, See Table 1 ‐

13 LUX‐WW‐0008 Box Transom for 35mm Mullion 6063‐T6 Alum 43 LUX‐BKT‐0001 Steel Anchor L Bracket 304 Stainless Steel

13B LUX‐GKT‐0006 9mm Gasket EPDM 45 LUX‐BKT‐0002 Anchor L Bracket 6061‐T6 Alum

16 LUX‐WW‐0009 WW Adapter Clip 6063‐T5 Alum 46 LUX‐BKT‐0003 Anchor L Bracket 6061‐T6 Alum

17 LUX‐HD77‐0009 Perimeter Frame 6063‐T5 Alum 47 LUX‐BKT‐0004 Flat Anchor Plate 6061‐T6 Alum

18 LUX‐FST‐0002 Special Screw for Transom 18‐8 Stainless Steel 49 LUX‐BKT‐0005 Anchor T Bracket 6061‐T6 Alum

19 LUX‐CLT‐0005 Primary Corner Cleat Cast Alum 50 LUX‐BKT‐0006 Anchor T Bracket 6061‐T6 Alum

20 LUX‐CLT‐0006 Secondary Corner Cleat Cast Alum 51 LUX‐FST‐0004 #8x.75" SS Screw 18‐8 Stainless Steel

20B LUX‐GKT‐0033 65mm Transom Expansion Collar Foam 52 LUX‐FST‐0005 #12x2" SS Screw 18‐8 Stainless Steel

21 LUX‐CLT‐0007 Alignment Cleat Cast Alum 53 LUX‐FST‐0006 M8 x 35 x 1.255 SS Flat head Screw 18‐8 Stainless Steel

21B LUX‐BKT‐0007 Flat Anchor Plate 6061‐T6 Alum 54 LUX‐FST‐0007 7/16" x 14 x 1 1/2" Flat Head Screw 316 Stainless Steel

22 LUX‐BKT‐0008 Flat Anchor Plate 6061‐T6 Alum








	FPA-FixWallWindow Model (1)
	FPA-FixWallWindow Model (2)
	FPA-FixWallWindow Model (3)
	FPA-FixWallWindow Model (4)
	FPA-FixWallWindow Model (5)
	FPA-FixWallWindow Model (6)
	FPA-FixWallWindow Model (7)
	FPA-FixWallWindow Model (8)
	FPA-FixWallWindow Model (9)
	FPA-FixWallWindow Model (10)
	FPA-FixWallWindow Model (11)
	FPA-FixWallWindow Model (12)

		2023-10-23T17:53:00-0500
	Lucas Turner




